THXSy « ERERE 1
T il i 1| Hm a1l i s HAAL =8 i %
WRE T = 1
Wi fE1E T = 1
IR
SRR AR 6100 X 150 (mm) 15 AT 5 L=2. 5m
BT HRESRREZ T = 1
SR 1Ly m2 105
H
Bhfs DT B ERVS G N 105
FAHITE M
T TARFBNEER TS m2 105
FAAITE M
T TRFBNEEE TS m2 105
VAT
R SoFEEREHFE | m2 105
VR
& SoFtIEEE L m2 105
BER AL T = 1
BEMENY - FHA | EEHEE<S 9 m2 105
BERF BIFRHIEE< 3 m3 0.2 (¥ = %50, 09m3)
BEM AL ERERIEE < 3 m3 0.2 (&2 $5 0. 09m3)
% E R T
THEMHEKRLT | LTHEHEEKE m3 170
REw ) BE+ m3 140
PR +4b m3 30
FEAR t=22mm m2 14
K+ 5 8IE - ¢ 110X 108cm 1% 93
KB ED S | ¢ 110X 108cm 4% 93
R GREE) B m3 170
WS TE +w m3 260




B OB B OE FE
THXS » EBERE
T i g il i il H s HAL = il
ROKIEE T
MEERY = F L
HEAKE D1800 X 5000 m 10
2T
B R Hhm2 123
G m2 167
% T 7 1
BRI PR T = 1
i %
%2 U F 4 —n—2n WI500X L4500 X H2150 = 1
77— ¢ J— | SS-AS-10T (S) fH34 #/H 1
LT 4N H— | =T — vy U—H 58 1
HEPAZ 4 N2 — | =7 — % U —ff ® 1
Sy I
A =% iR — A 3/ A 1
HEPAf & JE
£ EERE MDFU-77 7m3/min 100v4RY 35/ H 1
W H250 ¢ ~2w b
7)Y —X7 b 10m 1
W< 250 ¢
VYA VAN VN 1
HER 300 ¢
NI 100m N 1
WRT 4 ILH— 5a 6
2R T 4 IV H— e 1
HEPAZ 4 V2 — 5 1
A s A T
A A i B A A




i il H s BT
=X
=X

EBH) 7 7 A

W5 | £ E Sy1854H4 1
EET 7 H

BHEE— V% — | V37 4 )L X —AFBY A
T IN— T R CF {iE
(BB R RS—24H 4 &
BB R MG15004H 24 &5
S a— X F3— | SC1500ALFH Y Js

TR =P 37-1764H4
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T OFE - FEOBO- MR - B K & B X AL ¥ &=
[Bgmis 1]
Wrim &8 T
SMFAEE 6 100X 150 (mm) N= 5 T P 5 0
AR 2 T (Re—1)
S 1ALy A= 104.79 m2 m2 104. 8
A TH B 27U w22k A= 104.79 m2 m2 104. 8
T & TRAIE M =R VIR S B T A= 104.79 m2 m2 104. 8
T & PRAIE M = R 5 U RIR S E T A= 104.79 m2 m2 104. 8
o FHAKIE 5 - Ftlg kA s A= 104.79 m2 m2 104. 8
% FRAIE 5 - BEIREE R A= 104.79 m2 m2 104. 8
BEMALEE T
BER BN « A L EI 9 A= 104.79 m2 m2 104. 8
BERT S L BRI (ARBEE L E)
WEAEHE 140 um = 0.14 mm
WAL EE 104. 79 m2




»o&#& i "5 &

T fE - FEOB - AR - B B B = HAL &
AIFHIAA 6 6.5 kg/m2
(fi i~ 2 BFHIAF OFERELC & 0 Be0diE 5 o Tl LRFERR T 5 Z &)
R W= 6.5 X 104.79 = 681.1 kg kg 681. 1
PER AL Sy L AN T HE V= 681.1 kg kg 681. 1
(KfE V= 0.68 <+ 7.4 = 0.09204 m3 m3 0. 09

WA HE T D2 1T AFURAREET0. 2m3 & 7o > TW A T8, A EIOAS 130, 2m3 &1 5,




¥ =0 = Fete
H = B B OE
T - FE B - B - JH RS B B =V BANT OB
[ THHERT]
THABERE LT +1p Vi= ( 0.0 + 82 ) / 2 X 2.13 = 8.7
ve= ( 82 + 7.2 ) / 2 X 9.93 = 76.5
V= (7.2 + 7.2 ) / 2 X 6.00 = 43.2
Va= ( 7.2 + 4.4 ) / 2 X 0.45 = 2.6
Vo= ( 12.8 + 12.8 ) / 2 X 2.95 = 37.8
Vo= 168.8 m3 168.8
A BB+ Vv= 168.8 - 31.2 X 0.9 = 140. 7 m3 140. 7
P +# Vi= 1.5 X ( 14.00 + 1.10 ) = 22.7
V2= 1.4 X ( 500 + 1.10 ) = 8.
SV o= 31.2 m3 31.2
AR R
B ERAR +=22mm N= 39.5 = 1.219 X 2.438 = 13.2911 e 14.0
K+ 5 $ 110X 108cm
() N= 83 / ( 1L10 X 1.08 ) = 7
(2) N= 39.3 / ( 1.10 X 1.08 ) + 14.0 / 1.10 = 46
3 N= 1220 / ( 110 X 1.08 ) = 10
4 N~ 89 / ( 1.10 X 1.08 ) = 7
() N= 133 / ( 1L10 X 1.08 ) = 11
N= 50 X 1.62 / ( 1.10 X 1.08 = 7
6) N= 6.4 / ( 110 X 1.08 ) =
>V = 93 4% 93
% SRS (B ED) +w THEAKL T V= 168.8 m3 m3 168.8




»o&#& i "5 &

T f/E - fE B - B - BOR &t B = BANT OB
WA TE R +H v= 168.8 + 1.10 X 1.10 X =/4 X 1.08 X 93 = 264.3 m3 264. 3
[k ]
BEKE EBEERY =F L% D1800 X 5000 L= 500 X 2 = 10. 00 m 10.0
iR
[25T]
HAE 25 A= 61.5 X 2 = 123.0 Hm2 123.0
W AER ## A= 123.0 + 2.3 X 19.17 = 167.09 m2 167. 1




B = L
T fE - FEOB - AR - BAS = HAL &
(5% 1]
BREE AR A T N= 1 K E20 1.0
SR X2 VT 0 ——L BB N= 1 K 2y 1.0
W1500 X L4500 X H2150
T =Yy U—  SS-AS-10T(S) N= 1 /A 1.0
FUT 4 E— 7= U—H N= 1 e 1.0
HEPAZ 4 L& — =7 —i % U—f N= 1 # 1.0
7= a . iR — ALt N= 1 /A 1.0
HEPARHEJEAEEERE  MDFU-7Z 7m3/min 100VFH N= 1 /A 1.0
WUHI250 0 Xy F 7 U —%7 | 10m N= 1 N 1.0
WRH250 0 %4 7 N R N= 1 A 1.0
PER 3006 AR Y 27 & 100m N= 1 PN 1.0
1RT 4 VH— N= 3 M/R X K 6.0
QR T 4B — N= 1 # 1.0
HEPAZ A L% — N= 1 # 1.0




»o&#& i "5 &

TOfE - FE B O A OB - BA% & B = HAAL &
[ ]
ot FEHIFHEE B Y70 EYEE TR m2/ H
FHFHEE b L& 104.79 m2
PR 3 ON/BE (fEEBR 14, #iBhE 14, &8E 14 )
B 7 ARSIRER  Sy185HY N 1 3.0
EH 77 L FIET (L F— V3T 4 B — Y N3 X 2 X 1 /A = 6 fi 6.0
HN—TF CF (5Kt AD) N= 3 X 2 = 6 1 6.0
{bFB#EEM RS2/ N= 3 & 3.0
fL2ebsaiR NG15004H% (10FA D) N-3 X 4 [E/HX 2 = # 24.0
v a—RAHR—  SC1500AL N= 3 X 4 [E/AX 2 = 24 = 24.0
TR — PR 37-1764HY4 N= 3 X 2 = 6 W 6.0




= iy WAL 5 B
+ M >1=38.34 m 61.34 m2
= M >1=38.56 m 13.30 m2

By Hr N=11 i 7.03 m2 | SR2fEHT+ R RO T
W A N=8 1% it 0.42 m2
B+ N=Af& i 1.24 m2
KR [=19. 17m B=0. 60m 21.08 m2
F40 > 1.=37. 38m H=0. 87m 15.86 m2
T 104.41 m2
AR N=4%L 0.38 m2
&t 104.79 m2
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AL TSR A E
52 #vlj‘(H) : 47?‘/\‘/“(13)” ES [AIFE @ =
= (mm) A e (mm) [iEE (mm) (m2)
[ E#7]) HIESH 400 X 200
G1 400 200 19, 170 30. 67
G2 400 200 19, 170 30. 67
FHMr 7 38, 340 61.34
200
L=
§ T
]
[=A7] T 100 <50
G11H 100 2 50 3 19, 170 6.71
(€159 50 11 110 -0.06 | UM T2 + AR TO
G21d] 100 2 50 3 19, 170 6.71
(€2:159) 50 11 110 —0.06 | UnfEAMT2 4 H AR TO
=M E 38, 560 13. 30
50
8|
- (R) 110
i;[::::::::::: ?Euiﬁf
[#iMT]
ALSRRRMT 200 2 110 2 792 0.49
50 4 792 0.16
(€251179) 50 2 -110 -0.01 | SZHrERR
A25 AT 200 2 110 2 792 0. 49
50 4 792 0.16
(FERR) 50 2 -110 -0.01 | ZZMTHERR
JNEF 1.28
Hh I BR T N= & T
200 110 792 4.42 | 77 UAMAl
50 792 1.43 77 PN
(€159 50 2 -110 -0. 10
/NEF 5.75  9HEATEY
Bt &t 7.03
o RS #T
2 A 1. SNp—. 4 i
R w5 |
| o ! L o
] <¢5§7i> @E@) S H
P
110 110
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RASEAE R R
5y MRS W e gy O W E
(mm) (mm) (m2)
[HfifN44]
Gl TR PL 380 90 2 2 0.14
ki PL 380 90 2 2 0.14
($2eh%) -200 90 2 2 -0. 07
G2 T PL 380 90 2 2 0.14
(FEb%) -200 90 2 2 -0.07
ki PL 380 90 2 2 0.14
Zai oy 0. 42
[ ]
e (AD) L-75X75 930 75 2 1 0.14 | fotm
730 75 2 1 0.11  /K¥H
390 75 2 1 0.06 it
190 75 2 1 0.03 /K
390 75 2 1 0.06 fitm
190 75 2 1 0.03 K Fim
€2L1°3) -190 75 2 1 -0.03
PL 170 150 2 1 0.05 | (90~210) g
180 150 2 1 0.05  (90~210) E-H4JiE
250 135 2 4 0.14 =
(Fe3) -75 50 2 4 -0.02 =
i+ (A2) L-75X 75 930 75 2 1 0.14 | fiti
730 75 2 1 0.11  K¥mE
390 75 2 1 0.06 it
190 75 2 1 0.03  JKYmE
390 75 2 1 0.06 it
190 75 2 1 0.03  JKY¥m
($2e5%) -190 75 2 1 -0.03
PL 170 150 2 1 0.05  (90~210) “EHJiig
180 150 2 1 0.05  (90~210) -4
250 135 2 4 0.14 =fF
(FE88) -75 50 2 4 -0.02 | =M
FitE & 1.24
(K]
IRRR PL 19, 170 600 2 1 23. 00
€2L1°3) 19, 170 -50 1 2 -1.92
N 21.08
[3K]
SOk B ] 200 75 2 4 0.120 (&)
8 200 44 2 4 0.070
- 350 44 2 4 0.123
AL R 0.004 m2/A 4 4 0. 064
SOK F 0. 377
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RASEAE R R
%4 S (EX) 2 o g i
(mm) (mm) (m2)

[F3 0]
Gl & ¢ 60. 5 870 60.5 2 0.33
% ¢ 60. 5 18, 690 60. 5 1 3.55
45 ¢ 48. 6 18, 690 48.6 1 2.85
B4 ¢ 48. 6 870 48.6 9 1.20
G2 i ¢ 60. 5 870 60. 5 2 0.33
% ¢ 60. 5 18, 690 60. 5 1 3.55
B ¢ 48. 6 18, 690 48. 6 1 2.85
B ¢ 48. 6 870 48.6 9 1.20
F40 it 15. 86
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REFEZHEEHR

TiE #AA1 FHER i = ABE KBFESA
A

BrESET A E 25 m X m /8 B 1 A
LTEHIREREZT FithERE 10479 m2 X m2 /B B 1 A
BHE Tih 10479 m2 X m2 /B =] 1 A

T 10479 m2 x m2 /B =] 1 A

] 10479 m2 X m2 /B =] 1 A

L& 104.79 m2 X m2 /H H 1 A

BHMOET BEMEUR - FEIA 10479 m2 x m2 /H =] 1 A
ITERERT ITERERET 170 m3 x m3 /H B 1 A
btz 30 m3 X m3 /B =] 1 A

B E 14 m2 x m2 /H B 1 A

Bk E 14 m2 x m2 /H B 1 A

RELOSRE-FEH 93 & X % /8 B 1 A

KB LD E 93 £ X ®/H =] 1 A

B+ EHEGRED 170 m3 x m3 /H B 1 A

KR T HKESE 10 m x m /H 1 A
HKERBE 10 m X m/H 1 A

BT BHET 123 m x m /H B 1 A
&% A
RETHE A




